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OSYZINVUE &2 HAAT AEE
808l * 6,0002! * 128 5,760
OSYFINVHE HSBIHELR +48
200,000,000 * 2.7% 5,400
OSYFHX B0 HASUS 4,916
-XSAEAI(CIORA) 28,4802 « 1CH = 13 29
SUSAA(HLE) 65,0008 * 10 + 13 65
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SN DEHHDY
Hm: mels FAEY X4
Sl FHI el(RSAY SEaH) (S5 &2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
XS ZEAI(OFEHE ) 230,000% * 3TH + 13l 690
~EEPE(CH0A)  241,550%0 * 104 + 13] 242
~EE2E (L)
1,100,0002 * 1CH * 1] 1,100
~Z8 B8 (0lUHH) 850,000 * 3TH + 13 2,550
“HIIZAEER 48,0002 * 504 + 13 240
ONSXEE=8 Sl Mol 28
3,000,0008 * 1] 3,000
OSHFIT Roastle 29 139,320
~sa23 135,008 * 86341 * 122 139,320
OBHEIX LUSEIH AR 88,000
N LIE N ERESIEES 78,000
- 7H SHUH
900,008 * 194 * 128 10,800
Q013tH et S
40,0002 * 70JH 4 * 128 33,600
- A 40,0002 * 70044 * 128 33,600
-20I3tHet KiEISE 1,000,009 * 10CH 0,000
OFFACGs Z2IY |
,300,0008 * 128 15,600
oRogxxgBe T2y 2K
275,008 * 122 3,300
ONFEUS Ru&H | 471
k- 1,000,00020 * 7CH * 6% 420
-E0E 70,0008 * 5CH * 6% 51
OYMA JI2I| |7
20,0002 * 1CH * 123 1,440
OF YIS YLET ZHIRK 1,987
~DXMETRIE
6,578,720% * 1CH * 6% 395
~YOIMIRIE 1,400,000 * 5CH * 6% 420
-2ret el 7,000,008 * 2CH * 6% 840
E TR AL 3,700,0002 * 1CH * 6% 222
~m A 1,000,000 * 1CH * 6% 60
OXYRAHI (X - Hetdl)
4,000,000% * 5CH 20,000
OSH=IZET CCTVIHHI2H SX2 4t
3,000,000 * 4CH 2,000
202 048] 12,240 23, 184 A10,944
02 2ot 12,240 12,240 0
oagyTH 6,120
OSSR BRIl
170,008 * 3% * 122 6,120
CEEES 6,120
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SN
X XH .
S Tt

el

22
J2

20
B
2

SEECEEE ol
170,008 * 3% * 122 6,120
301 YLrBAZ 164,100 180,560 A16,460
09 Bol2ReABL 161,700 175,760 14,060
OFI NESs =3 161,700
O Bo22e8 243 145,508
~0124 | 83,6002 * 469 * 122 48,908
~EAH 5,008 % 46Y * 252 « 122 69,000
~DEH 2,008 * 46Y % 252 * 1% 27,600
OTl=| 9,202
2es 60,0002 * 468 * 25 5,520
-grate 75,0002 * 462 * 15 3,450
-223 7,00020 * 46% * 15 322
OOt 2 & A3 A
5,00020 * 46% * 303l 6,900
10 BAH 243 2,400 4,800 A2,400
oagRH 1,200
OFHXES ADEZHET SAH L ofyl
15,0008 * 408 * 23| 1,200
os=7y 1,200
OFYIES ZHE X SAH L 0]
15,0008 * 408 * 23| 1,200
401 Al&HIL 20| 28,500 31,500 3,000
01 Al&t| 28,500 31,500 3,000
oagRH 2,000
OFIASIN EXNE &% 2 DA
3000002 * 3074 9,000
OFEI S&7H LoCM o AL24
150,008 * 2074 4 3,000
CEEEE 16,500
OFH 2K A2 DA
300,0008! * 4002 12,000
OFHA S LOHTM U AldB2
150,008 * 3074 4,500
SYEIT CTVEHS TSEAY 282,960 156,210 126,750
401 AEHI LS 282,960 156,210 126,750
01 Al&| 281,016 155,265 125,751
OSHEHI CCTVEHSIHHIH &R (A&)
30,000,000 * 444 120,000
OSHEHX CCTVESIHHI2H XS BHAHYS
25,000,0002! * 644 150,000
OSHEFI CCTVEISIH0IE &XI A A& H Y|
120,000,008 * 4.08% 4,896
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SN DEHHDY
Hm: mels FAEY X4
Sl FIX 2l(RSAY SEIA) (S5 &2)
- MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OSHEHI CCTVEHSIHHIZH NS SHAY AlAl
EPE] 150,000,008 * 4.08% 6,120
03 Al&=CH| 1,944 945 999
OSHENI CCTVEHSIHHIH SXIAS 2Ol
120,000,008 * 0.72% 864
OSHEMI CCTVEISIUI2t ISBHAIY =
bl 150,000,008 * 0.72% 1,080
HRDSSst 6,537,334 6,963,538 ~426,204
DESAMWH(REAY SH3) 1,194,359 3,282,342 ~2,087,983
HOlg 22 162,928 2,233,480 A2,070,552
201 YEr2 Yyl 8,000 4,000 4,000
02 IT2YH| 8,000 4,000 4,000
OAE, DEHAEDE SZHLELLS
2,000,0002 * 24 * 23] 8,000
401 AIZHIL 2O 154,928 2,229,480 A2,074,552
01 Al& ] 153,752 2,220,480 ~2,066,728
OANSHAHDIY HEa Higel2ed A
62,0002 * 1,938m 120,156
ONSHAEDY B 2282 TA &
NEB 120,000,008 * 4.08% 4,896
ODHEOIE SBXE B4TA
35,0002 * 820 28,700
03 Al&=CH| 1,176 9,000 AT7,824
OANSHAEDE e H=22ee SA
NPT 120,156,0008 * 0.72% 866
ODHEDIY LT SLBA AL RHY
28,700,0002! * 1.08% 310
g gss 2 30,940 30,940 0
201 LByl 28,940 28,940 0
01 At 2l 25,000 25,000 0
oZgHLE =2 25,000
OxgEs Zadtc 10,0002 * 1074 1,000
OLED ZEES 2,000,008 * 1HA * 122 24,000
02 IT2YH| 3,940 3,940 0
OZHES HBW JLAB2(I2R3 <
A1) 120,008 * 134 * 128 1,440
OBHEE W AL (ALZHSNY)
500,008 * 52 2,500
203 PR =Y 2,000 2,000 0
03 AlZ =T R =AY 2,000 2,000 0
ONSHYALET 2,000,0002! 2,000
nSoHH 145,890 57,080 83,810
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2N DSHHD
HH: HADERS FE
B DSBAWS(DSAY S EEREE)
_ _ SIEN
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ol Ak O Blus
CEEEETEEEERENTT 8,250
OLERLRLS INM L S5F 2823 7,250
>l 1,7502 * 2,50021 4,375
-1t 2502 * 2,50021 625
-SoesE 1,5002 * 1,500 2,250
ONSRYPES LN SSUYRSE S
p/ R 800
SEEE 2,0008 * 20021 400
-HHS= 2,0008 * 20021 400
OLERLELILR AR ABE
80 * 2,50021 * 13l 200
ol bl 778,001 792, 192 A14,191
801 0flHI ] 778,001 792,192 ~14,191
I 778,001 792,192 A14,191
CITEI 778,001,0002 778,001
HEDSHHE L N2 HE(REAY SBE) 1,143,986 501, 165 642,821
HZDS 08245 5 348,750 41,200 307,550
201 Ysr2 | 45,100 32,000 13, 100
01 At 22lt] 44,500 32,000 2,500
OUERS0IE 22 28,400
OAUBIA =& 2 AIFEOIY B2 X
2,0008 * 10,000% 20,000
OHEDS0IE5)| 22N
1,002 * 3,000% 3,000
O=dHZES 88 BJi=
10,0008 * 307H 3,000
OAILABIA SHOIX 2| 200,008 * 128 2,400
OlELE FR2S =& 16, 100
SEEL Ik 300% * 10,0005 3,000
OFFIE M 300 * 20,0005 6.000
OFFINSH W 2,008 * 3,00004 6.000
OO H= 3,000 * 10074 300
E3Y M= 20,0008 + 409 800
03 A2 H] 600 0 600
OS+TAX FE HBLS FME
300,0002 * 23] 600
01 YerEAZ 7,400 9,200 A1,800
10 BAAHIRA S 7.400 9,200 A1,800
OUZERE AE RUEHRY 2SY| 7.400
oY st 20,0008 * 20 * 128 4,800
OnSIHE N 10,0002 * 208 *12® 2,400
onsIc 7Y 10,0002 * 202 200
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SA: DEHHY
Hu: MEDE
DESHE U AHIA HE(DEANY SE

SERNVE 513) (ol &2
SN HB SR (BIH) - A - B S 0l &b S D=2
- T o/, ° - [EEMREECES =5 0:”/‘l|_% Lsa
307 QI2t0IA 296,250 0 296,250
09 2==HAHAELS 296,250 0 296,250
oR4) 2X3 296,250
ORE3IE & ©2I| B
39500 = 750,000& 296,250
AMUHA BSAE A2EH 13,000 15,000 22,000
207 AN 13,000 15,000 22,000
01 g2E S| 13,000 15,000 A2,000
OANUHA2S+ X SHBSAE ot
=9 13,000,000& = 14 13,000
A BEA 2l 94,000 30,000 64,000
ANEHI LRI 34,000 0 34,000
A& 34,000 0 34,000
OAUHA SEX 0S4 §H§“é' TOHE X
7,000,000 * 2024 34,000
It t=01 60,000 30,000 30,000
QI =2 X 60,000 30,000 30,000
OANUHA SEX =A2clh
10,000,000& = 4042 40,000
O, SREEX T Y P44
10,000,000& * 244 20,000
s HOAL &3 688,236 414,965 273,271
2 et H| 228 509 A 281
ArE 22|l 228 509 A 281
O Ay 228
Os2Y ZASE 208
=Xk 30,000& * 2K 60
-3&s 168,000& = 1K 168
AEHI L =20 688,008 413,956 274,052
A& HI 683,938 411,705 272,233
=% 125,120
ONWHA BRE L HALHE HX &X
56091 = 170,000& 95,200
OANUHA U HALHE TR
37404 = 80,000& 29,920
oyEg+xd 195,535
ONUHA SHESE &3
12,000,000 * 8IH A 96,000
OAUHA RIsZE B+ & FH|
500,000& =* 5074 A 25,000
OSMSUH BB TS 4% L 2=
1,270,500& * 200H A& 25,410
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SN RESHD
BB MADESS HH
o9 ISDSEHE L MHIA HE(DSMY SHaH) CERE!
SA - H O (BIH) - MSAY - Ba S 0fl AF 08 Soe HRZ2
OAUHA S2& HEA 49,125
-SL&E SHA 16,000& * 250004 * 23] 8,000
_EUE AU HA
3,500& * 25000 * 473 41,125
osg+3d 363,283
OANUBIA SHESE &
12,000,000 * 15004 180,000
OAUHA S28 B+ L FH|
500,000& * 10000 2 50,000
ORNESLE BHIYZLEDEHESE X € B
1,270,500& * 5070 A 63,525
OAUHA S2E HEA 69,758
-S2& &4 16,000 * 35504 * 23] 11,360
ST ABHA
3,500 * 355004 * 473] 58,398
03 Al =20HbI 4,070 2,251 1,819
o=s 901
OAUHA S8 E & 20i]
125,120,000& * 0.72% 901
oagH 1,055
OAMUHA SHSZE EX L BAE 2
CHyl 146,410,000 * 0.72% 1,055
o4 H 2,114
OAUHA SHESZE X L BExAE 2
ikl 293,525,000& * 0.72% 2,114
NEHEHMAHAE 22 (NEAIY SEESH) 4,198,989 3,180,031 1,018,958
WENNSS 22l 2,562,594 2,422,267 140,327
201 B2 AH| 1,387,037 1,529,098 A 142,061
01 AP Zelbl 1,472 2,208 NT736
QUEXBHEH ARE L SAI2R 2 1,472
O=AIEYH 260,000& = 1CH = 43| 1,040
O=2AMEX 18,0003 *» 28t A * 12& 432
02 S=2494| 1,385,565 1,526,890 AN 141,325
O=2H(Z222Z2 % MA) 1,101,765
OnNEFEME 384,076
&332 100,000 * 3CH = 12& 3,600
&3 7,700,000& *~ 12& 92,400
—USENMZIHWS)E Z3HAIES
120,000& * 12& 1,440
QHSS MEIH MEF
20,000& * 5008/& = 12& 120,000
M=+ SHE b 800,000& = 13 800
-2&I| AIE= 42,9003 = 400 = 128 2,060
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2AM: nSEFW
S5 MADE28 IE
o DEHBHAE 22l (nSA SEIH) (9 ®2
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
-CCTV S&l22 s
2528 * 44,000m = 12& 133,056
-CCTV M E3JE MBS
160,000 * 169HA + 12& 30,720
(@IME=pI[0; ) 11,289
-WS MO PDA AEZ
50,000& * 2CH = 123 1,200
-WEMAI| PDAMEH EZ23& ALE
780,730% * 12& 9,369
-~WES MO I POA 2 XOIAIR AHBZ
60,000& * 12& 720
OunESHSHOUHI =X E=Hl
20,000,000& * 12& 240,000
OusSASHA Jls2Z 22l
20,000,000& = 123 240,000
ODSAES FUNA HA442 34,638
M SHA DI 41,500% * 431044 17,887
S S EF 7,000& * 2,393 & 16,751
OE%IlElg?_Mﬁ%‘(TGlS) = A2 ==t| 108,698
-l RECZ D/B KA
84,000‘3J * 1,015km 85,260
-AMAE RRIE S 3,906,330& * 6& 23,438
QusZAltoet =X 24l
30,000,000& * 39CH * 4/100 46,800
Ousazit It
20,025,000& * 44™ * 4/100 35,244
Ounsd=24dH dHMRPEH FXYI 1,020
-4l0l =2l 1,400,000& * 5CH = 6/100 420
ESPNE=YN D) 3,500,000 * 2CH = 6/100 420
-“EAESD] 1,500,000& * 2CH = 6/100 180
oag+E 103,200
Oag+ 2 nsdss I3
43,0003 * 2000H A = 128 103,200
os4+& 180,600
OS=7 Y DSHEES WL
43,0003 * 350004 » 128 180,600
206 MHZ=Hl 30,800 66,000 A 35,200
01 MH=Z=Hl 30,800 66,000 A35,200
OQUESEZHEH NSAET ST
700,000 * 4404 30,800
401 AIEHIZ 2O 1,144,757 790,469 354,288
01 Al&HI 1,140,650 785,520 355,130
ounstss RAE=Hl 390,450
Oulss 500,000& * 7,307%& * 6/100 219,210
OuSE= 1,000,000& =* 2,854& * 6/100 171,240
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FA: nSHEL
M dinNsEst &
tel: nEFSHAA Zel(LEMY SE3IH) (etel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ HusZ
Otlss &X 180,000
OdlSII(4al4) &X 50,000,000& * 3K 150,000
OZdES(A4) &X 6,000,000 = 504 30,000
oRdNSE BXEX &X
600,000& =+ 200CH 120,000
Ous == ASHOOI wH
9,000,000 * 20CH 180,000
Ounstlss ASK EZclSAt
10,000,000& = 502~ 50,000
OAlIZIEO SSASI| EXISA
1,000,000& = 50CH 50,000
OunsZAME CCTVE=F=S Al
7,400,000& * 2304 170,200
03 A&=20HYI 4,107 4,949 AB42
OusSANE= ExAE RO
1,140,650,000& = 0.36% 4,107
HAZEAASBIS)AIY F& 1,636,395 757,764 878,631
201 YEH2HH| 670,216 322,156 348,060
01 AtR22iHl 2,200 3,288 1,088
OHAZEZHE #E2EA FH| 2,200
OXZgd &Eu 185,000& = 2CH * 33l 1,110
O&EX=A EH 260,000& = 1CH = 23] 520
ORAMEST B 70,0008 104 = 33 210
OSAEX 18,000& * 22fA » 10 360
02 3323l 668,016 318,868 349,148
OHAZEBAAH B222= £ MAl 371,410
ORHUOIB (HESEHEII)
15,000& * 386CH 123 69,480
OBAZRHAIAE DEIP AHEZ
118,800& = 123 1,426
OHAHBOHHII(BIT) IS 65,664
-JIE&E 16,000& = 32704 = 123 62,784
-& 16,0002 » 30CH * 6 2,880
OHAHZOHHII(BIT) S&IRa 131,328
-JI& 32,0008 * 327CH ~ 128 125,568
&l 32,000& * 30CH » 63 5,760
OHAZEHH I1FESAY 018 (20M)
2,570,000& » 122 30,840
OHAZEESHE d23/H (128k)
1,856,000& = 12& 22,272
OB AAIZE &2l0] SMS 0IE=
300,00024 = 14& * 128 50,400
OHAZEAIAE(BIS) RXE> 296,606
OHAZECSHHII(BIT) FAE=
2,930,472,000& * 6% 175,829
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2N DEHFD
RS

NB: HADS28 NE
cel: DEFEHNN B2(DEAY S (29 @)
. _ - SJEL -
SA - EY . O(SH) - NRAY - BES 01l a0 e HDZ2
OXNE = ZII(0BE) RA=+
405,300,008 * 6% 24,318
OLHHSTAI KN4
218,871,000& * 6% 13,133
OHAESBHEH EH SN2+
598,420,000 * 6% 35,906
OsgmzI SxE4
540,328,000& * 6% 32,420
OWAZZOY| AZER SHa RTB2
15,000,008 * 1AIAES 15,000
206 M= HI 11,200 31,800 A 20,600
01 M=Hl 11,200 31,800 A 20,600
OHAZE A= g4Z 2l 700,000& « 16CH 11,200
201 AEHIL LY 954,979 403,808 551,171
01 Al&HI 949,000 401,000 548,000
OHAHSBAIAE(BIS) E&AS 940,000
OXRBIT 13,000,0008! * 30744 390,000
SUMHS 25 DA 2 JISHA 550,000
S AH 130,000,000& * 2CH 260,000
-AE2X 45,000,000& * 2CH 90,000
-Zzgetold A 700,000& * 200copy 140,000
_egmzaw JlsHY
60,000,000& = 14 60,000
OB AF oI (BIT) 0| F &
3,000,000 * 3002 9,000
03 Al 20| 5,979 2,808 3,171
OB AZ Lo II(BIT) SHTHET 2OHb|
949,000,000& * 0.63% 5,979
NWRES(NsSsHH) 2,247,463 2,146,015 101,448
HEHAHXS(LSAMY SE3IH) 2,247,463 2,146,015 101,448
ANeztelsd 29 2,247,463 2,146,015 101,448
309 SJIEBHNES 2,224,413 2,140,711 83,702
2 2N - RoBANEZ 2,204,413 2,140,711 83,702
ONEBRZY FHMY SHHLE
2,224,413,000& 2,224,413
404 SIS N=2NES 23,050 5,304 17,746
2 BN 2ON=EE2 23,050 5304 17,746
ONEB2BE FHMY H2AHSE
23,050, 000& 23,050
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SA: HYSEAMYL
=3 WESAAL(HTSSAL)
chel: J2dHl(LSAMY SE3IH) =l RS
}\_I X XH C|—O|(§Ij;”) }\.“bl}\I,O-I A2 0;“/\|»OH I|_‘|LI;=|_|‘:_ =2}
. T ° - = (L] 0:”{:'_% S o
SEAH L 411,882 544,227 A 132,345
YU SSAIE L) 39,638 49,770 210,132
|2 (NSAIY SE3H) 39,638 49,770 210,132
=&l 39,638 49,770 210,132
201 LEt23d| 17,366 21,930 A4,564
01 AtE222lHl 17,366 21,930 A4,564
OJl=2gRHESZHI(J1EZHI)
8,726,000& 8,726
O=HI(JIE=ZHl) 8,640,000& 8,640
202 ¢4 HI 22,272 27,840 A5,568
01 =W 22,272 27,840 A5,568
OJI=Z 4 22,272,000 22,272
NS 372,244 494,457 A122,213
S SE22(NSAMY SE3H) 372,244 494,457 A122,213
IsASE8R2 88 29 341,424 440,737 299,313
101 elH| 75,486 92,684 217,198
04 JIZtHIZ22 a2+ 75,486 92,684 217,198
UES=(2s) MiE Tl
35,1203 » 4% » 24 » 53 16,858
OASI FINAG 2=
35,1203 » 4% * 24 « 53 16,858
OS8R LHA USXt &
35,1203 » 2% » 24 » 53 8,429
OMEUEE =+ Y BHSE AX
35,1203 » 6% » 24 » 53 25,287
OJIZtHZ2X BE8E MHXHMNRES 8,054
O=0ld=z 67,432,000& * 4.5% 3,035
O3eALEE 67,432,000& * 2.665/100 1,798
OEIRLEE 1,798,000& * 6.55/100 118
ons:sd 67,432,000& * 1.3% 877
OArATHH EE 67,432,000& * 3.3% 2,226
201 LBt 3AH| 253,845 318,903 A65,058
01 AtE222|H] 44,684 63,823 219,139
oNPE= sESAAY) 44,684
ONAEH 228 74 10,844
-0l EZelH EY
185,000& * 20CH = 13 3,700
-DAME" Z2Y &Y
500,000& = 1CH = 33l 1,500
“HAEYH 70,0003 * 404 * 33 840
-SAJ| E4 260,000& = 3CH = 33 2,340
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SN
X XH .
S Tt

el

K- B3 S (3IH) - NEAY - Ba 2 0f Ao Soe HRZ2
Q=) H2HE 528,000& = 3&FAt 1,584
MNEESEAD| 2E X 110,000 * 84 X+ 880

OgRUH =5 3,800
-dH3E HA 400,000& = 13 400
- ABOLN 42 150,000& = 123 1,800
-&ojetM e a2

100,000& * 123 1,200

-AZ2LXHEI =2 400,000& = 13 400

OXNSAAIHS T M & 7,000& = 500% 3,500
ONENDAEY U O o Baot

70,000& * 2I0 A = 43| 560

OHEIIHEESA HAS 8,000& = 2500H 2,000

OXNsxsE2E AL o4y 19,130
R Y OIHSSHEN 95

3,500& * 1002 * 98 * 13 3,150
-HEY g3 MFAN 25

3,500% * 100& * 25 x 23] 1,400
SHE, A HAEDAH L O EXNSKE 178

3,500& * 20 * 178 x 23] 2,380
-XSXHEAF Ot & MElE XD XM 5
= 80,000& = 2&tXF x 5F * 33| 2,400
oIR8 E ot ¥ WEiE BUIDXAN 55

80,000 = 2&XF » b= * 33| 2,400
-NSHAE=SHA 3B * 40,0000 * 13 1,400
-ANSAHSES 50& * 40,00000 * 13| 2,000
-AASAHSEAR 25& * 40,00000 * 33| 3,000
-RESE2AHIE MAXMHEX} GHUH2

250,000& * 28tA x 23] 1,000

OLARZEIUHEZ HMEA SSULESE S
| =2 3,600
—AESE =5 3,000& * 600AH 1,800
-ASHM =2 3,000& * 600AH 1,800

OMHE MEX Z2HEI =2

250,000& = 53] 1,250
02 ss2494l 209, 161 255,080 A45,919
03322 2 HA 191,390

oRERZ 162,582
-S| 1,750& * 5,0008 * 128 105,000
-t 2503 * 15,000 * 128 45,000
-sJlts = 1,500& * 600 * 122 10,800
-HEEY 2,970& ~ 50 ~ 12& 1,782

(GrSPIETE=] 1,000,000& = 12& 12,000

ON3le3 100,000& * 4CH = 12& 4,800

ORI E:N3 25,000& * 128 300
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X XH .
S Tt

el

20
B
2

OR2EAMAEAIE UIPC S4123
30,0008 * 10 » 128 360
OCIE{ YN 388 35,0008 * 122 420
ON+=23 180,0008 + 12 2,160
OZNE2YS 150,0008 * 23] 300
onsgysez 200,0008 * 13 200
OAYorM & 3lt| 48,0002 * 13 48
OLHHARIBFHE T SAZ MAMBSIS 900
-E8 23 200,0002!  10H 200
—2ER 2 H 50,0008 * 1% » 128 600
-XHS XA 10,0008 * 13| 100
ONSXZ2IY, SHYIABBHZ G2 Ity
HE ANEE 802 + 2,00021 * 128 1,920
ONSRTRIY, SHHAVDHE AEI}E
R 2a2 200,000,0008 * 2.7% 5,400
oot 2| 6.080
OBIRAl Ly 6,080
-2=0
1,00080 « 24 * BAI2t » 404 + Q0L 5,760
-l 80,0002 = 4H 320
OAN &R I 8,691
OZEH 1,500,000% * 30CH * 6/100 2,700
OOIMIRIE 750,008 * 30CH * 6/100 1,350
OFIF=AII 3,700,0008 * 3CH * 6/100 666
SL--p] 1,265,0008 * 6CH * 6/100 456
OZA®EIl 1,500,0008 * 4CH * 6/100 360
OSAMEDIl  1,500,0008 * 20§ * 6/100 180
ODXA =2 ZelF
8,000,008 « 1CH * 6/100 480
OSABEI 6,600,008 * 1CH * 6/100 396
OBISBESI| 2,200,008 * 10§ * 6/100 132
OS®E =8I 5,850,0008 * 10§ * 6/100 351
OREEIYSXA2IAAY SNES
4,500,008 * 14 * 12/100 540
OXMDNBIZEIY RN+
9,000,000% * 141 * 12/100 1,080
OXt et 3,000
OZEXY KA 3,000,000% = 1CH 3,000
202 01l 2,040 2,040 0
02 2201 2,040 2,040 0
OAEIIH FI| et 01|
1700008 * 1% « 128 2,040
301 LptEaa 10,053 13,860 ~3,807
09 Z2RRAULAZ 10,053 13,860 13,807
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SN MAYSEAYL
M NADESE R
Eel: NSkt SSE2e(nsSAd SE3H) (el &)
Ao B .S (FH) - MBAIY - B2 Al OH &EIE Hm=2
= T ° TNe S =S (L] 04| AFOH 1Lss
OXNSASE 87 22X 10,053
O3UZRRA 243 9,468
-l 21H| 88,000& * 3H » 123 3,168
-S4l 5,000& = 3& » 25¢ » 123 4,500
- EHl 2,000& = 39 = 252 » 123 1,800
Oon=dl 585
=285 60,0008 * 3F » 28 360
-2Et= 75,0008 = 3F * 18 225
OLMBID BMEE HAE 30,820 53,720 £22,900
307 GI12t0ld 16,320 15,720 600
05 2IIRAE S 16,320 15,720 600
ORQBHIAIAE IS EHH|
110,000& = 123 1,320
OXNESEAMNTA E4 Y
1,250,000& = 12 15,000
401 AIEHIZ 208 14,500 38,000 23,500
01 Al&H| 14,500 38,000 A 23,500
ORIRANF=XE =XH =M 30,0008 » 1502 4,500
O +=ZANAIN £X 10,000,000& = 14| 10,000
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